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100000 |4 3% 200
100004 |4~ 7 # 5% 200
100002 |42 #3557 300
950001 |” #8% ¥7Ep 2 2,500
950002 |z #8% #73EM £ (¢ <) 120
950003 |z fa 5 $r3EP 2 (¥ %) 200
950004 |F*t 2 ikt ¥ 200
950005 |-~ iz m 2 (¥ %) 100
950006 [~ #érmm (¥ ) 200
950007 [P ~ 2 A KRV EE EY 1 R4 n D 1,000
950008 |fc it % 50
950009 |{c ¥k $ & 100
950010 |if*% 2 2 & %A FRFH 1,000
950012 |* jE % H1 v 500
950020 |# #izp & (& x* ) 500
950021 |3 ¥ @ p 50
950022 |# + i ¥ drEm 80
950026 |¢ /& % pAEdE & (- ») 650
950029 |R™ i 2 P 5 4 39 1,500
950031 |7 if L & ¢ 200
950033 |¥ 1 § By Erd 200
950034 |M =2 & & g v Hm(A S RR)E S HL TR FLEE A 600
950035 |t B Ei 4R 3 100
950036 | ¢ &t/ RA TR 3 500
802059 | ZHamaE (' F % @ 1) 800
950017 [ B4 4L 3 (F ) 5
990012 | & ffif sk a(~ 1) 200
990013 |*c# B ifAF Al k(- %) 400
990014 [z B ijag il k(= £ 12 1) 500
990015 |22 7 A Bl & A(% = 38) 100
614996 |+ F B ijaf Wl (- 1) 200
614997 | P F B (- 1) 400
614998 |4 ¥ B fAF Elka(z £ 11 1) 500
614999 |47 %  ifif 1l L AL( 5 - 3) 100
924212 |H 4 " g% p % A9E(5 BAARER® 3 ) /= 7,300
924220 |H %} " m% p ¥ AE(FEARER Y 3 )/ 6,300
924213 |H % o % f % A3(5 AR s 3 )= 5,000
924221 |H A} e m 5 p F AI(FHAKERY F )/ 4,500
024214 |frkz st ® 3 /= 2,400
961099 |77 = TR B AR (¥ - ) 3,500
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961100 |3 F R REFF (%= A 1 1) 2,500
400435 | & 53 Ay —% - FEE 20,000
400436 | & "3 Ay —% = FEE 9,800
400437 | & o3 A *2 A5 % 4 (H pr) 10,000
400438 | X ik '?;?I% KNy 750
400934 | ¥ . B4 FEE 2,000
400202 [+ g p ;@;?1;2 E?E» A1 s 400
400208 |#Erkurd BHEE 700
404020 [ 7% 3 5 100
404039 |(#=(ix)iE 300
404084 |~ g4 1@ 350
420009 |3D* #% F RS ok S 30,000
421117 |k 3 SHEE LT I 38,000
421120 (47 STHE T - 7k giE 38,000
424598 | or # S A 6,500
425000 |i& % i 6,120
429098 |2 & e L 31,000
429100 |~ & + § 2 'k 37,000
429101 |if = & “r i 5k jiv 24,000
429102 |iE =2 & + g% L i 142,000
429103 |iE = & 3 g ) A H 41,000
429104 |if > & " g 2ok £ jis 21,000
429105 [~ & = 2§ 24 pT 41,000
429106 [iE > @ > 5 7k jiF 45,000
429107 [iE > @ 5 3o ik e 120,000
429109 (i~ & MR+ e 120,000
429112 i > @ 7 Ry ik e 110,000
429113 (i~ & 2% £ e 2t 37,000
429114 (i~ & + (&% £ jiv- & 4 % R 1-38) 29,000
429115 (i~ & ¢ e B0 £ e T R 1-38) 29,000
429117 |if 2 & 5i0RYE R R 7 'k i 54,000
429118 |if 2 & 5% VEM T 1% 100,000
429120 | ~ & ¥ MRy vk - A 110,000
429121 |i£ = & G i 27 & 66,000
429123 |iE =~ & v FPRl1-28) £ 5 100,000
429124 i~ & S 195 R £ i 28,000
429125 (i~ & Frempl-24) £ 7 100,000
429126 [E =2 a §F 1 ity ik L 25,000
429127 |iE > & T i fR g 7 'R AT( 3 A T k) 35,000
429128 i 2 & "RVEELIF SRR L s o g ok E i 75,000
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429132 | > @ 284 B ukte kg 26,000
429133 |- axE@# * A 75,000
429134 > ax gk * #B 80,000
429137 |k~ & T F A5 31,000
429138 |k = & (5 FEIREER R O 1S VM T AR RN 36,000
429139 |iE 2 & L = 4% ri e ke 40,000
429140 |if 2 @ ok EE AL & B R ATk E aE jiE 76,000
429141 |i& 2 & 15 L VErh R 4 19,000
429142 | > @ i fkd 2 @Iﬁ\? PRy 38,000
450004 |8 & E R B E P 980
450020 |p ARBLYR FFAS (3 £+~ % &) 5,000
450046 |p A4tk rps (B - 7 4) 3,000
450047 |p Agte rps (B - * 3 4) 4,000
450073 |je¥ 45 adF 2,000
450074 |£ piev Boif vuik 4 AR 6,500
450076 | ARGLAZ G B B fRAS 5,500
450077 |p ARALIS (7 14 729% 4 16 & S 6,500
450078 |47 ) e s B - H 3 6,000
450079 | S+ 9 e g -3 3E 0L b 9,000
480031 |F# i 3] (F #) 500
480055 | > ¥ it HE (F H)) 5,000
480110 |57 # 4% 4k = (= %) 2,000
480130 > % 7 = 20,000
480134 |4 st 2,000
480143 |H5F > s & (E > &) 10,000
480144 |BE%F > B & (BT 2 &%) 15,000
480159 > r i) % v 3,000
480177 |3 17 % 4+ 5,000
480178 | i5 % 10,000
480180 |4 # & & A 47 2,000
480183 |2 v H3f 7 # 1,000
480202 |7 54 £ £ jie(F 3f) 6,000
480205 |7 % £ 4 £ j*B (=) 15,000
480237 |4 £ & 2% 9 7(587%% %) 20,000
480238 |4 421 & £ % 7 % 13,000
480239 |4x& £% 7 % 9,500
480240 ¥ £ & 429 =(5 % £87T%) 18,000
480241 (4428 429 = 11,000
480242 |44 £ 9 = 8,500
480243 |H 57 H 2nA Ed R & — % - FEE 14,000
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480244 |H SrH @3N A S S — - AR 14,000
480245 |H BFEEfpanA s h H A — % - PFE 16,000
480246 | 57 g i 2% A S B0 a,z Eg 5 16,000
480247 |H8F > v £ & & - PEER 25,000
480248 |Hgr2>r Ed Hd — 5 - BE 20,000
480255 |+ 148 7 pir—fi ¥ 30,000
480256 |+ 1489 jF—— 4k 40,000
480257 |+ 1489 iF—AF 30 50,000
480258 [+ 147 -4 /%9 7 30,000
480259 |+ 1167 -4 7 4 40,000
480260 [+ 149 -2 £ T = 40,000
480261 [~ 149 -2 L7 4 50,000
480272 | » 42 = 15,000
480273 |9 45 4c 7 % 2,000
480274 |19 18 4R 4c Tk 49 2,000
480275 |57 & %42 4,500
480276 | # & & AR B AT (E 4%) 8,000
480277 /&8s ;8 it s B(- 48) 8,000
480280 |HEZF 5|fr AT LR (5 - ) 35,000
480281 |3 5|1 AT ER($- W) 35,000
480282 |HEZE& s|fr AE AR (¥ 2 ) 35,000
480283 |ap s FEEY (%2 ) 35,000
480284 |k 39 % % v 10,000
480285 | f d-v i v Ak (5 )(3F) 5,000
480286 |+ 1 % (& ¥ ) 5,000
613528 | ARLALAEVET Kt B A g ESD 63,500
613532 |ESDP ARGLAENET & 7 B 4] dpie(~ %) 63,500
613534 | AR&EAZF A F51 7 JI(EUS-FNA) 6,140
613542 |p AR4xAz 3 sk #3177 )2 ¥ #F(EUS-FNB) 6,140
614056 | £ 0 F § "%k F 4 (% - =, p -‘gw) 38,500
614057 |> &1 F T sk ke (p 3,5 = S ) 36,500
614064 |AXUMIN PET Scan 68,000
614107 |Ga-68-PSMA PET scan 58,000
614108 |40 g p A ,.ua‘r i ® e o 90,000
614111 |4;-68-SSTR & @%«k wE 60,000
600051 |3773] %3 ;,;34 R i sk (p 3) (5 Arckan?) 850
600495 |FA/Bx i ip % 200
600587 |& /5 *4 3 4 #E 5 ;,# %+ 3 bk 1,500
600590 |BAI* ¥ 54 R %1k 2,213
620243 | I (5 #iE3) 1,450
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620466 |i& s 3% fw e £ 1004 A B B 8,500
625006 |MSI# %) &2 4k iR A 17 6,000
702541 |5t % fma #8 % & (2D+3D)- el 3,600
702542 |5 % %7K #F 4 4 (2D+3D)-¥ ] 2,800
702543 |5 % % ”r)é] Ptk 4 (3D)-# 2,560
000088 | ¥ %= #Feddp HF(2 % /4=y £4p %) 2400
000087 | ¥ &%+ #5:d4p F(EE w20y £4p %) 1200
000094 | # 35 % % (% 304 44) 300
000095 | % ¥ % ;;;a (404 43) 600
000096 |4 £* % % 3534 (F 304 48) 300
941011 |# i 4 4:% % 100
941012 |44 &: = % 160
941013 |¥ i 4 & :9L% 160
941061 |3 iF. & A% & 60
941062 |3 i @ik Fini= & 60
941063 | 8. k. F o & 60
941071 |2 j% % 4 & (0-2000+ ): % % 130
941072 | 2 ;7 % 4 & (0-2000+ ): = % 130
941073 | > /= {4k & (0-2000+ ): 5. % 130
941064 | 3 ix 4 4 (2001-2200+ ): % % 140
941065 | 3 ix 4 & (2001-2200+ ): = % 140
941066 |2 4 4 (2001-2200+ ): 5t & 140
941067 | i F 4 & (2201-2400+ ): % % 150
941068 |2 ;% B4k 4 (2201-2400+ ):= % 150
941069 | x4 & (2201-2400+ ):9% % 150
941070 | 3% 4 4 (2401-2600+ ): % % 160
941074 | i {4 4 (2401-2600+ ): = % 160
941075 | ix {4 4 (2401-2600+ ):9% % 160
941021 |isg 4k 615 & 100
941022 |isf 4k & 1= & 160
941023 |5 4x & 9 % 160
941018 | wpd-(f B )/1ps % % 90
941019 | wd-(f B )/1ps = % 90
941020 ﬁvm-(#ﬁ )L 90
941057 | & wd4-(f 8L )2ps 1% % 140
941058 | & w#4-(f B )/2ps ¢ % 140
941059 ;’év**4 (i 2h<)2ms 19 B 140
941111 |7 ~ % 4 & (1200+):% % 400
941112 [in f ~ % 4 & (1200+ ):= % 400
941113 [in f ~ % 4 & (1200+ ): % % 400
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941114 |;n % ~ % 4 & (1500+ ): % % 500
941115 |;= % ~ % 4 & (1500+ ): ¢ % 500
941116 |/ f ~ % 4 & (1500+ ): 9 % 500
941117 |;n % ~ % 4 & (1800+ ): % % 600
941118 |;n % ~ % 4 & (1800+ ):¢ % 600
941119 |/ ~ % 4 & (1800+ ): 9 % 600
941091 |[7: 5 ~ % 4 & (600+ ): % % 200
941092 ;% B ~ % 4 & (600+):= % 200
941093 |im F ~ % 4 & (600+ ): 0t % 200
941101 |;= & = % 4 & (900+ ): % % 300
941102 |;n & = % 4 & (900+ ): = % 300
941103 |;= & = % 4 & (900+ ):8t. % 300
941024 |g 4tk & (7B frz B fow L 0) % % 140
941025 |8 4cé & (7 o= Bfrw X n)P £ 140
941026 |8 frék & (3 i 4rz JBfre L J5)a A 140
941054 w4 &% & 140
941055 |tk 4 &9 & 140
941056 |43k 4 & 1o & 140
941051 |[*MCT DIET: % % 130
941052 |*MCT DIET:= % 180
941053 [*MCT DIET: % % 180
941200 |4 % (4, dc 4 %8, B FF ....) 15
941300 |fga% & 15
941014 |+ 3(%) 20
941015 [+ 3(=) 20
941016 |+ 3-(t) 20
941008 |% & -4c i (%) 60
941004 [#% & -4 (%) 10

*EALFERHRE O RBRLEFRFERRY EFEF LA L ELE FH o
*AIE P AlEBr LR HPFEFIAD (H > NARRARFHEESL -
*{ A7p #p 1 2023#£97 15p



